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Figure 4. Imprinted genes play a role in mammalian reproduction.
Mammals are diploid and reproduction requires fertilization of a
haploid female egg by a haploid male sperm to recreate a diploid
embryo. Only females are anatomically equipped for reproduc-
tion, but they cannot use parthenogenesis to reproduce (the pos-
sibility of which is represented by a pink dashed line) because
essential imprinted genes needed for fetal growth are imprinted
and silenced on maternal chromosomes. These genes are expressed
only from paternal chromosomes; thus, both parental genomes are
needed for reproduction in mammals. Parthenogenesis is the pro-
duction of diploid offspring from two copies of the same maternal
genome.
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